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And we place the money by its presumptive owner

OVERVIEW

The Xn>72 taught that when there is a 2 p»n “vWw, and other 2*7v claim that
the 0w 7Y were 27109 07y, the 0°%01977 07y are not believed. The X3
assumed this to mean, that since the 0901977 2°7v are not believed, the mM%n
can therefore collect with this quw. The X723 challenges this assumption; for
since it is M °7n, the wWH 7Y against the 2°207 7Y, the MP» cannot
collect with this 7vw. The X713 concludes that 3171 27 rules since it is M >N
therefore 7 NpIna X11mn *PR. This seemingly means that the M2 is exempt
from paying, since he is the P in the 1mn. The question arises, what is
therefore meant by 0°InR1 7X; seemingly the 22201977 0>7¥ are 2°3nK1, for the
MY is Mwo. MdoIn will cite s""w explanation and discuss it.

There is a rule of X777 1Y 1ann X°Xn7; that the burden of proof is on the
one who wishes to extract money. The question arises what is the 17 if the
XX was 0910 from the pimn; he seized the money from the original pimn
after it was established that it is a P50 and 7"yni. Now the original XX is
the prmn. Is this poon 791w RS 7o°on effective and the 0910 becomes the
P17, so that the original P17 must bring a 7°X7 to be XX from the 0910; or
do we say that a poo7 721w RS 70°9n is ineffective, and the 09N must
return whatever he seized back to the original prmn.

= 119D 199999 NDT RIN RIOWA 19223197 IND 5INPT 123NINI 19N IV‘)\DJYPQ w99
*"w+ explains and that which the xn»12 states that the 0°9077 0>7v are
not believed to invalidate the 70w it does not mean that we collect the debt
with the "vw, for there is a >0 "7n situation but rather the term 7°12X1 j1°X
means that we do not tear up the 7vw. The Xn>12 rules that a 2ow which is 2™pn
and other 0>7v claim that the qvwi >7v were unqualified to sign, the 0°201977 2*7¥ are not
believed. This does not mean that the m>» may collect his debt based on this q0w; for it is
M »7n and the monies remain by the P1mn, who, in this case, is the mY. Rather, 0°3a81 PX
means that 72 does not insist that the 0w be destroyed on the basis of the testimony of
the 0°%01971 0>7v; but rather that the %1 may keep the qww.

Do 772
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Moo continues to cite *"w7 who explains what benefit there is to the MY by the fact that
we do not destroy the 7uw. Seemingly he still cannot collect his debt:

- 11539 199791 XY 20N INT 139 NPOY
And the outcome of this ruling; that we do not destroy the “ww, is that if
the MY seized from the M5 whatever the 0w claims is owed to the m>» we

do not extract it from him and return it to the m%. The M is entitled to keep
whatever he seized. If the 2°5019771 2°>7v would be believed, then even if the MY was 0910
his 2117, he would be obligated to return it to the m>, since there is no proof at all that the
% owes him any money. The 70w was invalidated by the 0°201977 0°7v. However since the
meaning of 1°JR1 X is that we are not sure whether the 0°201977 0>7v are truthful or not,
for it is > >N, therefore the ruling is that the %% cannot collect from the M2, because
perhaps the 0°%0177 07y are truthful. On the other hand if the m>» was o910, the m?
cannot claim his money back, because perhaps the 070197 0°79 were not truthful and the
7w is a valid 7uw. The monies always remain in the possession of the prmn. 72 does not
take away monies from the prmn since there is a 220 (of >M 7N).

mooIn has a difficulty with s""w9 explanation:
=922 PAY %1) (ow 3, 91 RYINN NIIT NP P92 9INRT VP

And it is difficult, for the X723 states in the first pap of n»''2 noon
concerning a questionable first born [sheep]. A firstborn (kosher animal) is
given to the 772. The status of this animal was in doubt whether it was a 7122 or not. The

OX7w° owner is not obligated to give it to the 173, for we apply the rule of 11amn XXn7
7RI 1YY, The 375 must prove that it is a 332, in order to claim it.?

The ®2n3 there rules that if —
= Y10 IMN PNV 11D 19PN

The 371> seized it from the X, and it is now in the possession of the 372,

nevertheless we remove it from his possession. 7" returns the 7152 750 back to
the original %> owner. This concludes the citation from the X773 in 2"2.

mMooIn concludes the question:
- 111 @199 INY NPT ANNYT NN NNYN

* This 7050 is effective even if 07y saw the 7o°on. If there were no o7y by the 70°0n then the 09N is
certainly believed to claim *2vr *7°7 with a 11 of *dun X7 (since there are two 0>7¥ who support him).

? The X" is nonetheless prohibited from working and/or shearing this animal for it is a 1192 790. In a P90
(®n™Mx7) we are strict and the prohibitions relating to a 7122 apply to a 7132 poo.

* This (seemingly) implies that a poo77 72w 2Tp 70°0N is a valid 70°0n. This would mean that if the 22
was originally in the mwn of the 1775 (or the 712 had a 172 or a M>n by the M>n) the 173 could keep the poo
7192 (and the MYn would not be obligated to return the 17Pd or pay back the 7191). See the "> later in this
mooIn (footnote # 22). See ‘Thinking it over’ # 1.

2

TosfosInEnglish.com



X317 PR 7"7 '010 R,5 M2 .7"'02

it is evident from that X713 that seizing after there is a doubt; as the case is
there (and here) that the 7772 seized the 7122 po0 after it was known that it is a
7102 790 (and here too, the MY seized the s'm7 assets after we knew it was a

X200 of *M "n). This type of seizing is meaningless. The 37> must return the
7192 poo. Here too the Mm% should be required to return any monies he seized after it was
established that it is a >0 N7 XP*50. How can "wA state that if the 791 is 091N we are
not 171 PRXIN?!

moon does not immediately answer this question. Rather n1901n anticipates that there
may be an additional difficulty (on the X°x10 of 3772 19pn), which m»oin will subsequently
dismiss:

=279 NYP RY (0w 3,37 97 0w) INIVN 10T NINAN 117
However, concerning that X123 in the end of ®Xw p1o, there is no

difficulty at all from the X210 of 373 19pn —

Moo continues to cite the XN in YR —
= YNNY ANT 992919 NIYY D290 27792 99%2ND N%2 999UN 23) 1329INT

For the X721 states concerning a case where one rents out a house to his
friend for the rate of twelve golden dinars for the year and the landlord
additionally specified that it is being rented at the rate of one golden =1°7

per month. The year subsequently turned out to be a leap year of thirteen months.” The
ruling is as follows:

= 9YNY 1IN YNINN NYNNA Na
If the landlord came to collect the rent at the beginning of the thirteenth

month the entire additional rent of one 711°7 must be paid to the landlord.

mMooIn now derives a concept from this ruling that the 7°2wn receives the extra month’s
rent, even though it is a P20 if he is entitled to it —

= NI 9P9UN NPINAT NNION
This ruling implies that the rented property is considered to be in the

possession of the landlord. This explains why he can force the tenant to either pay
the extra month’s rent or be evacuated, since the landlord is the P of the rented

property. Therefore when there is a poo, we award it to the pimn, who in this case is the
landlord.

> The question here is whether we follow the (opening) statement of twelve 22171 per year, in which case
the renter is not obligated to pay for the extra month, or do we follow the (closing) statement of a 217
wTIn, in which case the renter is obligated to pay an additional 2>7 for the thirteenth month. This is the
Po0.

3

TosfosInEnglish.com



X317 PR 7"7 '010 R,5 M2 .7"'02

mMooIN continues to cite the ruling in that X3 —
= 99IWT 1210 YN 91D XA 9INRP 991 1929N)

And nevertheless the X723 there states that if the landlord came at the end
of the thirteenth month, it is entirely the tenant’s; the 1°>>w» cannot force him
to pay up the rent for the thirteenth month. Seemingly there too the 7121 was 0911 the rent
from the 7°2wn, since the 7°own is the Prmin. What is the difference between the case of
172 19PN, where if the 179 seized the 1122 we are 1791 R°Xn, since the PR is the prmn; and
the 17 of 7°2wn where we are not XX from the 770°5n of the Pw®

moon answers that this is not a valid comparison:
- 1199 STIN MTINT 92319 KON TYHNN NN KA KT 11997 BN HINYT

For there by 70w 70w it is different than by 173 19pn, for since the 7°Own»
did not come at the beginning of the thirteenth month to collect the rent
due to him, it is possible to say and deduce from his lack of prosecution
that the 7°own» has indeed admitted to the 7151 that there never was any intention
of collecting an extra month’s rent. However by 1715 pn (and similarly here by the 19

mM?7) there is no indication at all that the 5% " is forfeiting any rights to the 7122 (or that
the M7 agrees that he owes the money).

mooIn explained that there is no contradiction between the X3 in PR (where 70°90 is
seemingly effective) and the X210 of 1712 wpn (where 7990 is not effective). However
there still remains the original question on >"w9; why 70°0n is effective here (by a mn
m?1) and not effective by 372 19PN (even though both are a Poon 791w IR 70°00 and by
neither is there a semblance of 7% *7X *T7IX). MoOIN will now explain *"wA:

= NI 9192 ONX Y19 PRT PO0M DN JNIY 9192 2) SINYT 91217 W
And one can say; that by =122 it is different than here, for the 375 is
seizing the 702 in a doubtful manner, since the 1772 himself does not know

if this animal is a =9123; therefore the 170°5n is not effective, since the X is the

original P1mn, and the 773 has no valid claim against him, only a X»w claim® -
- "npsan Xo3nM 9 WLY NON YaN

However, here by the Mm% Mm% where the m>» claims that the Mm% certainly

® If these two M ma cannot be reconciled and there is a dispute between the X3 of 12w "2wn (which
maintains that *171 70°0n) and the X3 of 175 19pn (which maintains that °3n X7 170°00), then M2oIN original
question on *"w1 (from 3775 19pN) is not that difficult. *"w1 can maintain that he follows the & nx of 2wn
0, which maintains that *3777 poon 7w XY 70°50.

7 See “Thinking it over” # 2.

¥ Regarding the case of 1271 1"wn where (seemingly) it is also a X»w claim (whether w1 1w 9190 or
IR 1WY), nevertheless the 8720 of 799 7R »7IX, is sufficient to allow a PO 721w MR, 700N,

? See “Thinking it over’ # 3.
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owes me the money the 71920 is effective; and the m%n can retain that which he
seized.

In conclusion, according to *"w9 a pooOn 77w NR? 70°0n is valid if the 090 has a NI
2.'9 mpon therefore asks:
- 5999 rman HY MIN A %33 (3,15 97) ©INAN NPINA IINN ON)

And if you will say; in 2°n377 npt 275 concerning the case where this one

said it belonged to my ancestors, etc. The other litigant claimed the same.
= 93) DYINT DD 19N) 29 99N

1'"1 ruled whoever is stronger overpowers and takes possession.
- APY9N? 9919 PIN NN 119 1MW AN At Pnana ha9 9s9nnnn 7599

And the X723 there challenges the ruling of 17 from the case where one
exchanges a (pregnant) cow for a donkey; this one said it was born when
the 75 was in his possession and this one said, etc.'* The ruling is they

divide the newborn calf between them. The question on 1"7 is why do we not say W17
in the similar case of "2 >max Sw K 1. This concludes the citing of the XX in NP
0°n3an.

mo0oIN continues with his question on *"w7 NVW:
- 513295 1103 2 D19V NINN NINN NN NIUYP INND)

And what question is there on 1" from " nn2 799 7°%1an?! For that mwn of
P17 nna 719 72onni follows the opinion of 919929 who maintains that 17n

0°p?In P20 HuInt and 1''1 follows the opinion of the j139 -
= 423 DYINT 997 NPT 19N NININ 1YY 195201 NONINN Y9INT 1A

For the 32121 who maintain that 7'"'v»7 that is exactly the same ruling as %5

=23 2YONRT -
- %593 190Wa NN KINNT I

' We do not assume that it remains in the possession of the prmn at the time of the 90; but rather either
party has the right to (continually) seize the item from the opposing litigant. There is no definitive
settlement.

" The argument was concerning a ship or property, etc.; an item over which neither of the litigants had
physical possession.

"2 The cow gave birth sometime during the transaction; but not in the presence of the parties.

" The transaction was effected by the original 779577 Y¥a making a 712°wn on the Tmam; thus exchanging the
ownership of the two animals.

" Tt cannot be determined if the birth took place before the transaction (thereby the calf belongs to the
original 71971 %¥2) or if it took place after the transaction (thereby belonging to the original 21 Hv2).

5 The xm (in X,p n"2) states that according to the 13137 (if the 791 is in neither’s mwa) we award the
newborn calf to the X»p X1, the original 71977 9¥3, and the M 9Y2 is a PRIT PO 1720 XX,

' It is evident from this MooIN that 3"X73 is continual. Each litigant may continually be 0910 from the other.
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since (according to *"w7) 1o°9n is (always) effective when there is a "2

claim. If we were to disagree with *"?1 and maintain that we award the settlement to the
P at the time of the po0, then 17"¥17 would mean that 770°5n from that 217172 would not
be effective; only a X7 can be XX from the pooi nywa pimn. The ruling of 7"vnA
would be different than 923 0°9%7 93; for by 2"X75 they can continually be 0910 one from
the other, as opposed to 71"vni, where the object remains by the original p1mn at the time
of the poo. The question of the X773 is understood. 1" is not following the opinion of the
71127; the 7127 never mentioned 1"X72, only 71"v»7, which is a different ruling. 3"X75 seems
to be an original ruling of 1"7. The X na rightfully asks that we should follow the ruling of
P17 (since n1"vnr is irrelevant by *MaR Hw IR 17, for no one is a P [or a KR XIA]).
However, according to °"wn that 73"ynn and 3"X75> are synonymous (for in each case
continual 710°0n is effective), then 1"7 is not stating an original P03 but rather following
the ruling of the oonon.’ Why is there a question on 1" according to Myt

N1B0IN answers:
- DIIMDN S99 NY 1324 1959NT 7599 3977 Y Y

And one can say that this is the challenge to 1"7; that even the 139 (who

maintain 77"¥7%77) do not argue with 912210 —
- RN PYY 1953010 N8N 9599 NN PIN1 179999 THT 0IVN NIN

Only because one of them (either the 77577 792 or the M nnn Hv2) is a prmm;
(the 791 is in someone’s possession and/or the 77977 Hva is the X»p &) and

therefore it is possible for the 0°51 to maintain that 7" vna7 —
- 2%y599151 ©Y91290Y9 111 199301 953 DA 1NN PPNT NIN YaN

However, here in the case of "3 >max v X 71 where neither is more

1 that the other the 0201 admit to 912210 that they should divide the
item in question; why then does 1" maintain 3"X72 when there is no prmmn.'

17 3m7o (where there is no p1mn) seems to be an obvious result of 7"yni. If we rule that even if a person was
a (poor nyw3a) prmm, nevertheless his opponent may seize it from him and retain it, then certainly in a case
where neither was a p1mn, that each of the litigants is entitled to (continually) seize it. See footnote # 20.

¥ See 7w @"Am (TRT) K"

' They are arguing over a boat or a property without any documented proof, and neither has physical
possession of the disputed item.

% We would be required to say that the 7121 where there is no pinm is more rightfully awarded to both
parties, than where we allow the present prm to retain ownership by 7"vna. In the latter, the other litigant
can always be 091n; in the former, once the n17n is made, it is permanent. The reasoning may be as
follows: In any o0 each party has an equal right, therefore the obvious ruling should be 171 (as 0190
maintains). The 2’1217 basically agree to this; however they maintain that if one party is a P11, we have no
‘right’ to remove him (even partially) from this item, unless there is proof. We are not awarding him the
item; it is his merely by default. If the situation changes and the other litigant retains possession then it
remains by him, again only by default. However when there is no P then the ruling is 1Y, We award
half the item to each litigant in a legal and binding manner. There can be no 710°5n. See footnote # 17.
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In summation; according to m»d0In the view of >"w1 is that when there is a 72 n1vwY then
POON 7YY TNRY 100N is effective and may continue indefinitely.

moon offers another approach,
- PODN 1ONY DNP DONYWI 9919 NINY Zapyh v Hw

and in addition we can say that in truth a Pd0n 791w XY 70°0N is invalid
as indicated by the X210 of 172 BP0 (and the X210 in 2°n2a7 npmm which
challenged the ruling of 1"), however here (by the m% M%) we are
discussing a case that the MY seized the assets of the M7 before the pso

was created; the m>» had in his possession assets of the Mm% before the o707 o7
came to 73, therefore now that there is a o0, the m»» is the prmn and he may retain the
assets that are in his possession prior to the p20. According to this answer when the Xn»92
states 0°1MX1 PR, this ruling is in the favor of the m%», only if he was 5077 721w 27P 09N
however once the P50 was 721, the Mm% is MWD from paying and X% PDOT T2UW MK 70°ON
100,

mooin offers a different interpretation:
= 92)W2a RNIAN PNRYNY 1Y NN DNIIAN 3 PYNY a9

And the R'"2w9 prefers to establish that the Xn592 is discussing a receipt.
The mon presented a 7R27 W, and the MY countered with a receipt that was o°™pn.
Subsequently other 27y came and were 2019 the "2wn *7v. If the °%0197 2>7¥ would be
believed, the M1 would collect with his 7X1771 q0w. The ruling is that the 070197 0>7Y are
not believed and therefore the 72w is valid (even though it is ™M ’1n).23

$399% XYY D©29W92 921V 21 19PINMY N9 NPINA NN SPINT DN PN 9N

And the cause why the 0°%019:7 2>79 are not believed (even though it is >7n
M), is for we place the money in the presumptive possession of its
owner; who is the M7 and we presume the witnesses of the receipt (who
claim that the Mm% repaid his debt) as being valid and the m? is not required
to pay.

SUMMARY
According to (moon first interpretation of) >"w9, a PooOn T2UW MR 70°0N,

! The xmx there subsequently explains that 1?11 is said only by a X1»7 X177 (the P20 is there even
without their claims [as in the case of 7mm2 779 7°%nnn]), however by 121 *Max Sw X 71, there is no X117
X117 (the poo is created only by the litigants) and y»17m does not apply.

22 It is not clear (from this mdoIN) whether the "W is an alternate interpretation of *"w (that °17n 110°5n
PO 721w NRY, in a case of "13; however by a case of Xaw it is *171 only P20 791w 27TP), or if it is NDOIN
own interpretation of the X3 (and *177 X7 9077 721w NRY 705N even by 72 Nww).

* See ‘Thinking it over’ # 5.

7

TosfosInEnglish.com



X317 PR 7"7 '010 R,5 M2 .7"'02

where there is a >32 nN1Yv is *17». By 172 1PN the 70°0N is not 177 since it is a
Xnaw nivv. [By 70w 7°own we can assume that (perhaps) the 7°2wn was 771.]
According to the alternate interpretation (and the X"2w7) a 791w nKR? 70°9N
Poo1 1s ineffective.

THINKING IT OVER

1. What would be the 17 by a ppoi1 721w 0Mp 70°0n with a ®nw nwp?**

2. Mmoo explains that by 10w 2°own it is not considered a 721w XY 709N
>5071, since the own did not come wNAA n°nna therefore 7% TR TR
However, the rule by MW is that 7102 XX na2nwn 71°K; what proof is there
from the tardiness of the 13wn?1°°

3. Why is there a difference between a case of X»w1 X»w (by 172 19Pn) where
n0°9n is not effective and a case of 121 »2 (by the Mm% M) where 70°0n is
effective??’

4. What would be the 17 of a P50 by a X117 X777 where there is no P17; do
we say 1217 or A"X7?

5. According to the x"awA that we are discussing a "2w,”® what does the
X713 mean when it asks '®29vn X0w2ad 72 1°2001'?! We are discussing a 02w,
not a x> W

2 See footnote # 4 & 22.

2 See footnote # 7.

% See w"wA.

7 See footnote # 9. See XXW MK D°¥117 MIWN.
2 See footnote # 23.

% See 11 MR N"n 2"
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